
Liten Formelsamling i Vågrörelselära 
 
SHM: 
 

𝑓 = 1
𝑇
         𝜔 = 2𝜋𝑓       𝐹𝑥 = −𝑘𝑥      𝜔 = �𝑘

𝑚
     𝑥(𝑡) = 𝐴 cos(𝜔𝑡 + φ) 

 
𝐸 = 1

2
𝑚𝑣𝑥2 + 1

2
𝑘𝑥2 = 1

2
𝑘𝐴2 = 𝑘𝑜𝑛𝑠𝑡.  

 
strängar: 
 

𝑣 =  �𝐹
µ
         𝑦(𝑥, 𝑡) = 𝐴 cos(𝑘𝑥 ±  ω𝑡 +  φ)     𝑘 = 2𝜋

λ
      𝜔 = 2𝜋

𝑇
 

 
𝑣 = 𝑓⋅λ = 𝜔

𝑘
  𝑓𝑛 = 𝑛𝑣

2𝐿
  𝜕2𝑦

𝜕2𝑥
= 1

𝑣2
 𝜕

2𝑦
𝜕2𝑡

  
 
𝑃𝑎𝑣 = 1

2
𝜇(𝜔𝐴)2𝑣 = 1

2�𝜇𝐹(𝜔𝐴)2  𝐼 = 𝐸𝑓𝑓𝑒𝑘𝑡
𝐴𝑟𝑒𝑎

   
 
i fluider: 
 

𝑣 = �𝐵
𝜌
   𝑝𝑚𝑎𝑥 = 𝐵𝑘𝐴 = 𝜌𝜔𝑣𝐴  

 
intensiteter: 
 
𝐼 = 1

2
𝜌(𝜔𝐴)2𝑣 = 1

2�𝜌𝐵(𝜔𝐴)2 = 𝑝𝑚𝑎𝑥
2

2𝜌𝑣
= 𝑝𝑚𝑎𝑥

2

2�𝜌𝐵
  

 
𝛽 = 10⋅ log I

I0
  𝐼0 = 10−12 𝑊/𝑚2 

 
pipor: 
 
𝑓𝑛 = 𝑛𝑣

2𝐿
    𝑓𝑛 = 𝑛𝑣

4𝐿
     (𝑛 𝑢𝑑𝑑𝑎) 

 
Doppler: 
 
𝑓′ = 𝑓 𝑣𝑊−𝑣𝐿

𝑣𝑊−𝑣𝑆
  

 
chockvåg: 



 
sin 𝛼 = 𝑣𝑊

𝑣𝑆
  

 
elektromagnetiska vågor: 
 
𝑐 =  1

�𝜇0𝜀0
         𝐸�⃑ = 𝑐𝐵�⃑  𝑢𝐸 = 1

2
𝜀0𝐸2    𝑢𝐵 = 𝐵2

2𝜇0
  

 
𝑆 = 𝐸�⃑ ×𝐵�⃑

𝜇0
    𝑆𝑎𝑣 = 𝐸𝑚𝑎𝑥𝐵𝑚𝑎𝑥

2𝜇0
= 𝐸𝑚𝑎𝑥

2

2𝜇0𝑐
= 1

2
𝜀0𝑐𝐸𝑚𝑎𝑥

2   
  
interferens: 
 
𝛿 = 𝑚λ     𝛿 = �𝑚 + 1

2
� λ             φ

2𝜋
= 𝛿

λ
   

 
dubbelspalt: 
 
𝛿 = 𝑑 sin 𝜃        𝑑 sin 𝜃 = 𝑚λ   (max)      𝑑 sin 𝜃 = �𝑚 + 1

2
� λ   (min) 

 
𝐼 = 𝐼0 cos2 φ

2
  ;   φ = 2𝜋𝛿

λ
 ;  𝐼0 = intensiteten rakt fram 

  
diffraktion:  
 
𝑎 sin 𝜃 = 𝑚λ ; (𝑚 ≠ 0)     𝐼 = 𝐼0

sin2(𝛽 2⁄ )
(𝛽 2⁄ )2

      där  β = 2𝜋𝑎 sin𝜃
λ

 
𝐼0 = intensiteten rakt fram 
 
𝐼 = 𝐼0 cos2 φ

2
�sin

2(𝛽 2⁄ )
(𝛽 2⁄ )2

�  
 
Rayleigh’s kriterium:   
 
𝜃𝑐 = λ

𝑎
   (spalt)     𝜃𝑐 = 1.22⋅λ

𝑑
   (runt hål)      

 
gitter: 
 
𝑑 sin 𝜃 = 𝑚λ                𝑅 ≡ λ

∆λ
= 𝑚𝑁 

 


	Rayleigh’s kriterium:
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